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= OB &N 1) () ANEOFHM. %) WL i ns
w F 2 A I=UNON L IV NI B ON)

B4 £ % E ] [y it % %

wook bk B 20,430 -0.7 23,572 4.0 44,002 1.8 44, 006 18
H h=2 B 52, 210 1.5 42,643 5.1 94, 853 3.1 136, 449 9.7
o= w8 2,206 6.2 2,717 5.6 4,923 5.8 135, 868 9.7
i = 9, 646 2.3 9, 268 2.0 18,914 2.2 140, 283 9.7
F & Kk B 6, 400 9.4 4, 358 1.8 10, 758 6.2 136, 469 9.4
= O B =R 15, 068 5.0 9, 986 2.4 25, 054 3.9 147, 906 2.5
o & W B 10, 866 1.8 9,116 1.3 19, 982 1.6 139, 262 2.8
B & X E 18, 868 1.1 11, 561 1.4 30, 429 1.2 126, 662 9.9
# poig 24,676 2.1 20, 476 2.4 45, 152 2.2 934, 031 3.1
oKk ®m W 64, 750 1.6 30, 702 3.7 95, 452 2.3 126, 976 2.6
=G, A NI =) 9,912 2.2 6, 702 4.1 16, 614 2.9 117, 583 2.5
T = I 3,218 -0.4 2,076 4.6 5, 294 1.5 115, 469 2.5
¥ = 8,586 -1.0 3, 158 5.7 11,744 0.7 118, 195 2.3
Mmoo B M 4, 502 1.4 3, 002 3.6 7,504 2.2 119, 288 2.3
= By 2, 750 1.0 1, 351 7.6 4,101 3.0 120, 509 9.9
=k N % 18, 808 1.8 12, 528 5.4 31, 336 3.2 127,775 2.0
W ik 2,426 -0.8 2,324 2.8 4, 750 0.9 126,931 2.0
=G A == R I I 1, 852 0.4 1,776 6.3 3, 628 3.2 126, 717 19
" i [l 3,462 -3.0 3,510 3.5 6, 972 0.2 127, 597 1.9
- - A I R 4 4, 586 2.9 4, 595 5.9 9, 181 4.4 130, 691 L9
i feh 2,024 4.7 2,609 1.4 4,633 2.8 132, 494 2.0
Ok OB B 53, 456 0.6 38, 689 2.0 92, 145 1.2 189, 444 1.9
X MM BT OF 1, 646 1.7 2,314 3.6 3, 960 2.8 188, 034 11
moE B R 6, 986 0.7 11,514 -2.2 18, 500 -1.1 189, 206 1.1
R bESS 5, 454 0.0 5,671 1.9 11, 125 0.9 186, 252 1.9
Bk B OB W 29, 934 1.7 24, 210 4.5 54, 144 2.9 198, 002 1.3
o K AR 21, 004 2.6 10, 884 1.4 31, 888 .2 177, 736 12
5 b3 15, 128 0.4 7, 800 0.9 22,928 0.6 161, 727 1.2
N T £ & 26,922 -0.3 20, 254 0.0 47,176 -0. 2 136, 482 L5
wOk K o OH 7,212 0.0 4, 894 0.4 12, 106 0.1 128, 986 16
ik i} = 32, 006 1.8 20, 833 2.3 52, 839 2.0 110, 832 L1
& pESS 9, 260 0.7 7,319 2.5 16, 579 1.5 100, 725 Lo
o — H U N B 12,774 -0.9 8, 596 1.1 21, 370 -0.1 85, 748 1.4
U A == R == 13,366 -2.3 8, 488 1.8 21,854 -0.7 69, 795 2.3
IO A = 11,594 -1.0 7,636 2.1 19, 230 0.2 56, 557 2.5
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R4 TE ] % E # 4 % 7 % %
PN e = 234 0.0 190 0.5 424 0.2
WOk ¥+ 3,610 5.5 2,716 3.8 6, 326 1.7 06, 287 2.0
R Y e ’ 9. ) . 5 1.
52, 494 3.1
= & 5 @E 1, 854 0.0 729 0.0 2,583 0.0
51, 881 3.3
/A S/ N 5 4,226 .1 4,934 6.3 9, 160 5.8
50, 151 3.1
ook pk H 19,624 -0.3 15, 802 6.1 35, 426 2.4
25,178 7.1
7z B 2 v oL 3, 392 1.6 8,384 20.7 11,776 14.5
13, 536 0.8
D3 M 7e Mk 5, 404 -2.2 8,132 3.0 13, 536 0.8
(2K BRI AR )
1,971 -3.2
i) 4 H 982 =7.0 988 1.1 1, 970 -3.1
(B R B #R)
i i 128, 476 0.9 59, 236 10.0 187, 712 3.6
187, 717 3.6
WOk K 9, 964 2.0 8,219 1.0 18, 183 1.5
181, 851 3.5
A\ i 6, 056 1.4 3, 736 3.7 9, 792 2.3
177, 780 3.5
] 4 N 7, 580 3.6 5, 624 4.8 13, 204 4.1
172, 448 3.3
J N A VAR =1 24, 748 0.3 11, 426 3.3 36, 174 1.2
159, 486 3.3
( BEk 4 W fR )
29, 579 0.5
L X 4,188 -1.6 4,836 0.2 9,024 -0.8
23,736 1.3
ook 4y 14, 736 0.1 8, 999 3.3 23, 735 1.3
(B Rk F ZE #)
I I NI 6, 686 1.5 6, 022 2.9 12, 708 2.2 50,093 25
43, 250 2.6
woOfR EOE 5, 342 3.3 2,460 3.6 7, 802 3.4
38,771 2.5
iy R, i 1, 732 4.0 1,913 2.9 3, 645 3.4
37, 295 2.3
O e ®E 3,170 1.7 3, 044 2.1 0,214 1.9
36, 827 2.5
I L D & 3, 742 1.6 2, 866 2.4 6, 608 1.9
35, 786 2.6
i) N =l 950 -1.5 1,234 4.7 2,184 1.9
35, 596 2.6
Hr I i 626 10. 6 897 5.0 1,523 7.3
34, 928 2.4
ok T # 12,618 4.9 12, 888 3.8 25, 506 4.3
27,375 2.1
T ¥ R 8, 904 -1.4 6, 720 3.1 15, 624 0.5
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Bl P 2 A =N @ ol A B (N
R 4 E 1] % E # 4 % g % %
(B Rk F R #R )
18, 880 2.3
+ 3 I+ 1, 864 5.0 2,298 3.6 4,162 4.2
15,773 2.1
N o 5 1,372 -0.3 1,178 1.3 2, 550 0.4
13, 569 2.4
=4 E1I] 2,842 3.5 1,715 2.0 4, 557 2.9
9, 286 2.5
B o w A B 2, 564 .1 1, 756 4.5 4, 320 4.8
5,113 0.6
Hoo0X 5 B 3, 192 0.8 1,920 0.3 5,112 0.6
(B M 2= 8 5% )
- 20, 067 14. 8
W /N = 1, 360 8.5 1,778 25.0 3, 138 17.3
22,200 15.5
S S N 2,158 3.2 1,718 13.8 3, 876 .6
23,764 15.4
TH=a—H R 2,942 5.9 1,675 7.8 4,617 6.6
16, 068 23.3
Fl g B R E K 544 7.1 471 .8 1,015 7.9
\ 15, 688 25.1
| = I S 1| 544 15.3 634 .9 1,178 11.8
14, 744 25.7
72 W o2 v oL 320 3.2 5, 644 31.5 5, 964 29.6
8, 699 21. 4
Ak om oZE 510 20.9 8, 188 21.1 8, 698 21.1
& 2 833, 044 1.2 598, 102 4.3| 1,431, 146 2.5




